F
E
D
[
C SCREW CHc M8x25
[SCREW CHc M5x30-22
00.56.315
00.56.3140
SCREW H M8x25
B
00.56.3154
SCREW CHc Méx14 |
00.56.315 :
971.00.112 a8
SCREW CHc Méx20 =Lt
00.56.3159— Ly 71

SCREW CHc Méx2

A S FiIiiiiiiiiios
SCREW CHc Méx2 T
WASHER M 6
00.56.3152

SCREW CHc Méx25

00.56.3156

01.57.1328
02.57.1010

o o =] [} [} o o o o o [e] [e] [e] o o o o o o o =] [} [} o o o o o

02.57.1009
| ISCREW CHc Méx14
02.57.100

_ % A

m@|

[} [} o o
o o o o

@ |c o o o

o o o o o

@O n 1] |

ele)C)

o o o [} [} [} [} [} o o [e] [e] [e] o o o @

Cim—

[ [ [ [ [ ] ] ] [e] [e] o

[ [ [ [ [ ] ] ] [e] [e] o

© o O©0 0 0 o o 0o 0o o o o o o o
© 0o o 0o o o o 0 6 6 © o o o o o @

o o [ [ [ [ [ [ [ [ ] ] ] [e] [e] o

o

WITCH Cherry-DG13-B3-LA

00.56.3158

CREW CHc M3x8

BOX RETURN MOTOR

LINEAR STAGE KVP 140 2004 TR 150

CREW CHc M8x20
CLAMP A50-K140

MOD DATE DRND.

4

APPD.

00.56.3155

5

DESCRIPTION

A2

WAGON ASSY

DETECTOR ASSY

EUROPEAN SYNCHROTRON

RADIATION FACILITY

CS 40220 - 38043 Grenoble Cedex 9
TEL. 04-76-88-20-00

WWW.ESRF.FR
7

GEN. SURFACE FINISH :

8

2 |SCREW CHc M1.6x8 A4-70 0.
2 |SCREW CHc M3x8 A4-70 0.
2 |SCREW CHc M3xé A4-70 0.
16 |SCREW CHc M8x20 A4-70 0.
2 |SCREW H M8x25 A4-70
2 |SCREW CHc Méx20 A4-70 0.
20 [SCREW CHc Méx16 A4-70 0.
4 |SCREW CHc M5x30-22 A4-70 0.
19 |SCREW CHc Méx25 A4-70 0.
8 |SCREW CHc M8x25 A4-70 0.
10 [SCREW CHc M6x60-24 A4-70 0.
6 |WASHERM 6 A2
2 |NUTHMI6 A4-70 0.0155
New part 1 |SWITCH Cherry-DG13-B3-LA CHERRY
New part 6 |CLAMP A50-K140 KINETIC SYSTEMS
New part |00.56.3160| 1 |MYCOM HOLDER AW-7075 3.28
New part |00.56.3159 | 3 |STOP BLOCK AW-7075 3.28
New part |00.56.3158 | 1 |CHERRY SWITCH SUPPORT AW-7075 3.28
New part | 00.56.3157 1 |SWAGELOK HOLDER AW-7075 3.28
New part | 00.56.3156 1 |LINEAR STAGE KVP 140 2004 TR 150 KINETIC SYSTEMS
New part | 00.56.3156 1 |BOX MOTOR KINETIC SYSTEMS
New part | 00.56.3155 1 |BASE PLATE AW-2017 A 2.48
New part | 00.56.3154 1 |ZYLA CAMERA HOLDER AW-2017 A
New part [ 00.56.3153 | 1 |DETECTOR SUPPORT AW-7075 6.28
New part | 00.56.3152 1 |[MOVING PLATE AW-7075 3.28
Existing 1 |BOX RETURN MOTOR KINETIC SYSTEMS
Existing 1 |Linear stage KVP 140 2004 TR 100 320 | KINETIC SYSTEMS
Existing 01.57.1338 1 |OPTICAL BREADBOARD Alliage 2018 11,6754
Existing 91.00.1125 1 |SUPPORT 25 AW-2017 A 0.0415
Existing 01.57.1328 | 1 |Ty SPACER AW-7075 5,6361
Existing 02.57.1010 | 1 |GUSSET PLATE AW-7075 1.8839
Existing 02.57.1009 | 1 |GUSSET PLATE AW-7075 0.6877
Existing 02.57.1008 | 1 |GUSSET PLATE AW-7075 1.1988
Existing 02.57.1007 | 1 |BASE PLATE AW-7075 0.8835
DRW N. QTY |DESCRIPTION / REMARKS MATERIAL W./Kg
SCALE: NAME DATE
Omm 100 pRi. HEYMAN 04/12/2019
CKD.
IDO1 - DIFF IMAGING NANO APPD.,
GEN.TOL.:

ASSY. 01.57.1320
00.56.3150

SolidWorks

B



	Sheet1
	Vue de mise en plan2
	Vue de mise en plan6
	Vue de mise en plan7
	Vue de mise en plan8
	Vue de mise en plan9
	Vue de mise en plan10
	Vue de mise en plan12
	Vue de mise en plan14


